Average

Q1. The average age of A, B, C, D, and E is 40 years. The average age of A and B
is 35 years and the average age of C and D is 42 years. The age of Eis?
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(a) 46

(b) 48

(c) 32

(d) None of these/%ﬂﬁ@ﬁ"&fqﬁ

51. Ans.(a)

SolL,A+B+C+D+E=200

A+B=70

C+D=284

E=200-70-84

=200- 154

=486

Q2. Nine persons went to a hotel for taking their meals. Eight of them spent Rs.
12 each of their meals and the ninth spent Rs. 8 more than the average expending
all the nine. Total money spent them was?
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(€)) 104
(b) 105
(c) 116
(d) 117

52. Ans.[d)

Sol. Let average be a
12x8+ (x+8)

9
06 +x+8=9x
104 = 8x

x=13
Total money spends =13 = 9= 117

Q3. The average age of eleven cricket players is 20 years. If the age of the coach
is also included, the average age increases by 10%. The age of the coach is?
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€) 48 years/ 48 ¥
(b) 44 years/ 44 G
(c) 40 years/ 40 ¥

(d) 36 years/ 36 d}¥

$3. Ans.(b)

Sol. Sum of 11 players = 11 x 20 = 220 years

When Age of Coach is included Average = 20 x Sl

100
220+ AgeofCoach =22 x 112
220 + Age of Coach = 264
Age of Coach = 44

Q4. The average of 3 consecutive natural numbers (which are in increasing order)
is k. If two more consecutive numbers, just next to the first set of numbers, is
added, then the new average becomes?
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k 2
Efg k I 1
(©) (2k + 1)/2
(d) 2k — 1

54. Ans.(b)

50l. Consider Average of
1,2,3>2

Average of

1,2,3,4,5—=3

Consider average of
2,3,4—=3

Average of

2,4,4,56—=4

So, the average increases by 1

New average becomes
=k+1

Q5. The average weight of a class of 33 students is 47 kg. If the weight of the
teacher is included, then the average weight of the class increases by 1 kg. What
the weight the teacher?
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(@) 48
(b) 80
(c) 71

(d) 81
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55. Ans.(d)

Sol.

Sum of 33 students = 33 x 47= 1551
x+ 1551 =48 x 34

x+ 1551 = 1632

X =181 years

Q6. A batsman has a certain average in 59 innings that he has played till the last
one. If his average increased by 2 runs after scoring 181 in the Iast innings, what
is his average after these innings?
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(@) 61
(b) 63
(c) 62
(d) 60

56. Ans.(b)

Sol.

Ss9=59xx

DO xx+181=(x+2)x 60
59x + 181 =60x+ 120
x=061

Average after 60 innings
=61+2

=63

Q7. The average weight of a group of 20 boys and calculated to be 89.4 kg and it
was later discovered that one weight was misread as 78 kg instead of 87 kg. The
correct average weight is?
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(@) 88.95 kg
(b) 89.25 kg
) 89.55 kg
(d) 89.85 kg

57. Ans.(d)

Sol.

8520=89.4 » 20= 1788
S15=1788-78=1710
S20=1710+ 8? 1797
-=89.85 kg
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Q8. The average monthly salary of all the employees in an industry is Rs. 12000.
The average salary of male employees is Rs. 15000 an that of female employees
is Rs. 8000. What is the ratio of male employees to female employees?
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(a) 5 : 2
(b) 3 : 4
(c) 4 : 3
d)2:5

58. Ans.[c)

5ol

Sum, = 12000 (M + F)

Sumy, = 15000 x M

Sumg = 8000 = F

15000 x M + 8000 x F=12000 x M + 12000 x F
3000 M =4000F

M:F=4:3

Q9. The arithmetic mean of the scores of a group of students in a test was 52. The
brightest 20% of them secured a mean score of 80 and the dullest 25% a mean
score of 31. The mean score of remaining 55% is: (approx.)?

Tteror ¥ B B TS GUE BT B0 WHIR 52 YT 370 ° JaQ asf 80 BT 39d
TWHIR 20% 3R 31 TaH & BT NTd WX 25% UT| AW 55% BT T @R 8: (
TN

€)) 45
(b) 50
(c) 51.4
(d) 54.6

59. Ans.[c)

Sol.

= 20xB0+25x31+xx55
- 100

5200=1600+775+x 55

5200 -2375=558 xx

S5x=2825

2825

55
=51.3636
~514

o=

Q10. In the afternoon, a student read 100 pages at the rate of 60 pages per hour.
In the evening, when she was tired, she read 100 more pages at the rate of 40
pages per hour. What was her average rate of reading, in pages per hour?
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(a) 60
(b) 70

(c) 48
(d) 50

510. Ans.(c)

Sol. Required Average
100 + 100
= 100 , 100

60 | 40
200 200x6

5,5 10+15
3 2
200

=S5 » 6 = 48 pages,/hour

Q11. A cricket player makes 200 runs in the 15th over. In doing so, his average at
the end of the 14th over increases by 10. What was his average at the end of 15th
over?

TP fhpe ATt 15 § 3far A 200 T ¥91 a1 81 THT A H, 14 9 NaR P 3fd A
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(@) 60
(b) 50

(c) 40
(d) 45

511. Ans.(a)
Sol.

Sia=1dxx

Si4 +200 = 15 (x + 10)
14x + 200 = 15x + 150
x=50

His Average after 15% over
=50+10

=60

Q12. The average monthly salary of the workers in a workshop is Rs. 8500. If the
average monthly salary of 7 technicians is Rs. 10000 and average monthly salary
of the rest is Rs. 7800, the total number of workers in the workshop is?
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(b) 20
(c) 22
(d) 24

512, Ans.(c)
Sol.

Sum,, = 8500 x x

Sum, = 70000

Sumrest = 7800 = (x-7)

8500x =70000+ 7800 (x-7)
8500x = 70000 + 7800x - 54600
700x = 15400

x=22

Q13. The average temperature of the town in the first four days of a month was 58
degrees. The average for the second, third fourth and fifth days was 60 degrees. If
the temperatures of the first the fifth days were in the ratio 7:8, then what is the
temperature the fifth day?
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€) 240 degrees/ 240fSH
(b) 232 degrees/ 232153
(c) degrees/ 64fS
(d) None of these/ %Flff I ﬁé -'-|€°[

513. Ans.(c)

Sol.

15t 4 2nd 4 3rd 4 4th = 237
2nd 4 Frd £ 4thy Gth = 240
2nd 4 Jrd £ 4th = 340 _ 5th
15t + 240 - 5% =232
Gth_ 1st=§
1st:5th=7:8

Let1#= ¥x

St day = 8x

Bx-7x=0

x=8

Temperature on 57 day =8 x 8 = 64

Q14. There were 35 students in a hostel. If the number of students increases by 7,
the expenses of mess increase by Rs. 42 per day while the average expenditure
per head diminishes by Re. 1. Find the original expenditure of the mess?
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€) Rs. 320/ 320%
(b) Rs. 420/ 420%.
(c) Rs. 160/ 260%.
(d) Rs. 158/ 158%.

$14. Ans.(b)

Sol.

Average Expenditure = x

Original total expenditure = 35x

New Average Expenditure per student=>x-1
Mew total Expenditure = 35x + 42

35x + 42

—z i
30x+42=42x - 42
84 ="7x

=12

Original Expenditure = 35 % 12 =420 Rs.

Q15. The average age of a husband and wife was 23 when they were married 5
years ago. The average age of the husband, the wife and a child who was born
during the interval, is 20 years now. How old is the child now?

5 ATA Ugd oI 3! Rl g8 A @ ufer oik uelt &Y oitwa 39 23 o <ft | 337 siamT@
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(a) months/ e
(b) 1 year/ 1 G

(c) 3 years/ 3 ¥
(d) 4 years/ 4 d¥

$15. Ans.(d)
Sol.

x-5+y-5=46
x+v=56
Xx+y+z=20x3
56 +z=60
z =4 years
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